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Add 3,427 1o 26,42

The temperature drops by 8° to —6°

What was the original temperature?

What are the coordinates of
the vertices of the triangle?
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1 Estimate the temperature
at 10:00 am.

Temperature (-C)

900AM 930 AM I0:00 AM 10:30 AM

Time
22 + |:| = 58l

Round 247,89 to the nearest 100,000

How many minutes are there in 3 hours?
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D} The graph shows a car journey.  **

What does the flat part represent?

Subtract 3,29 from 24,763

Complete the sequence.

1,781 1,881 1981 ____

Order the amounts in ascending order.

£04 £242 4% 240p
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20

When was the
temperature 15°C?

@

Temperature (‘C)
s

0
G00AM 30 AM 1000 AM 1030 AM
Time

Estimate the total of 18,842 and 12,117

Use <, > or = fo compare. 442,381 () 44248l

What is the value of the digit 9 in the number 492?





